Total number of pages - 16
32T ECON

2022
ECONOMICS

Full Marks : 80

=+ Pass Mar_ks 1 24

Time : Three hours
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for the questions.

PART-A (F -Si4)

Q. No. 1 (i-wvi) carries 1 mark each - 1%6 = 6
Q.' Nos. 2 - 7 carrly 2 marks each 2x6 = 12
Q. Nos. 8 -11 carry 4 nmarks each 4x4 =16
Q. No. 12 carries 6 marks 6%X1.= 6

Total = 40

PART-B (¥ -=2)

Q. No. 13 (i=wi) carries 1 mark each 1x6= 6
Q. Nos. 14~ 19 carry 2 marks eacl : 2= D)
Q. Nos. 20 - 23 carry 4 marks each 4x4 = 16
Q. No. 24 carries 6 marks 6x1= 6

Total = 40
Total (PART A & B): 40+40=80
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(1)

(iii)

(i0)

(0)

. PART-A /35

Define involuntary unemployment. il

Sivgee [HRgas wgel #52 |

What is effective demand ? : s |

sy wifenl &2

What do you understand by depreciation of capital ? | i
GNP = GDE = o . b el ) e Tkstd)
1
GNP = GDP - | (ST 312 99 79)
What is fbreign exchange market ? il

- R R/iawg 1@l 72

(vi)
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Which of the following transactions are included in the current

account of Balance of Payment ? 1
“/Reiize Trels HETe 2o WERERS (D] EREE T9YE 2

(@)  Import and Export of goods
TS S o @i

(b) Import and Export of services

GRIR S S S
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(¢) Unilateral transfer

GTART TS

(d) All of the above

G2 FFCEAR
(Choose the correct option)

(o7 Geseol R CleedT)
Write the differences between GDP at market price and GDP at factor cost.
s)
GiE wes GDP F: o S GDP-F WiEs gy il
OR /92«1

Write one similarity and one difference between intermediate goods and

capital goods. 1+1=2

B By i A o o S g i S S RET R

3.  What do you understand by ‘Paradox of Thrift" ?

N

‘Seezs 1 egEer A IE0E T gee
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OR /2T -

What is aggregate supply ? Explain.

N

ANET @ia e geE e

4. Write two differences between direct tax and indirect tax.

N

AOTF BT W AET IR AGR 700 ARy T

(@]

What are the components of high-powered money ? ' 2

ST U SR [ e
OR /31

Define Bank Rate and Cash Reserve Ratio. 1 11=2

(S 2 W= Fom gzl weives wReE i

Write t700 differences between Balance of Payment and Balance of Trade.

2

SN 73y W% e e WeE- 77 AL

Wrrite ; o , i
1te in brief the ideas of fixed exchange rate and flexible exchange rate.

2

R R, 1 . et e i 40l 51 e o
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8. What is investment multiplier ? If a new investment of Rs. 300 crore
increases National Income by Rs. 1200 crore, calculate the value of
investment multiplier. In this case, what will be the value of MPC ?

1+1+2=4

St g B2 02 300 (I TR 94 R s i 1200 (it 50

f% @, (0T RRGED @ Wi sl T | Eewas, MPCF ST [ 297

OR /%41

&

Briefly discuss the components of aggregate demand. 4

Ffes 5ifre TAMETIR ACHECA SCEhl 4 |

9. Write differences between the following concepts : (any two) 2+2=4
frafiiEe «RemNE Wes #1dky @Rl ¢ (Riepe 7619)
(i) Autonomous investment and Induced investment.

wer RN ol Sfees [l

(ii) Ex-ante consumption and Ex-post consumption.

AT TS % (IS TSl |
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() Marginal propensity to consume and Marginal propensity to save.
2NfEE THATS 2Rl W% it Hen 2gee |
(itv) Marginal propensity to consume and Average propensity to consume.

2NEE THATS el SR 51G TATe kel |

10.  Discuss four main functions of Central Bank. i : 4
(ST (ST BIIBY =2 R ST <o | |
OR /441
Explain how commercial banks greate credit. ‘ 4

T @< @ 2o W% = g |

11. Discuss the components of Government Budget. 4

bIPIST N Bottmiorg o |
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OR /@141
Define the following : ' ol =t
- woe PR e o
(i) ‘F.iscal Deficit
A T
(i) Primary Deficit
I RIBEIRA 8

(ii1) Planned govérnment expenditure

(iv) Non-planned government expenditure.

12. Explain how GDP is calculated using Income method. 6

WY PGS TYTS (FEME GDP sidl 1 28, IR <1
OR /<1<

Discuss the reasons why GDP can't be used as an index of country’s welfare.
6
GDP 3 0 Q471 Fe7io9 7T Feol TIQS TRA SRR SIREFR SCEo=l 41 |
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S ()

Define sustainable development. 1
TN SREE K@ Bl |

(i) During British rule, decay of Iﬁdian handicrafts was caused by —

1

PART-B / <-4

oz “PreEe ©Res TR Ao e wifE —

(a)

®)

Discriminatory tariff poliéy of the British Government

@tz 5oz Rromee w= S

Competition from machine-made products

T w99 o[ I @9 il

(C_) Change in patterns of demand
SIfEnis 4=eiT sifaes
(d)  All of the above
G FAFEEN
(Choose the correct option)
(¥% TeFeo) Nz Cfereqy)
(i) In which year the NITI Aayog was formed ? 1

32T ECON
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[8]



(tv) What is the differeﬁc:e between ‘Labour Force’ and ‘Work Force’ ?
3 { < i 1

WS o e WEE s B

(v) Mention one similarity of the economic policies adopted by India and

Pakistan. ' ? ‘ ' 1

CIR® % AT A% 791 TGS [IOT 57 AP Seame 79 |

(vi) The ‘Great Leap Forward’ campaign in China focused on —
1

GIGS; TS R Gl (Great Leap Forward) Sifexas 32 @9
SR ;
(a) Privatisation

Eifica IR

(b)) Widespread il1duétria1isation

TN TS

(c) Development of services sector

CR Qas [

(d) Economic reform

ST AHT

(Choose the correct option)

(®% C&Ihr e Claeay)
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14. Mention two major industrial sector reforms in the Indian econo1ﬁy under
the policy of liberalisation.
TR TS SR eieew SNy Trmin Yew A F= 701 SSgd FRFIS
S 91|

OR /=€

Write about fwo positive effects of LPG policies in the Indian economy.

2

wiEel Teifes LPG Fifes 75) (e eere Raw Bl

15. Write two merits of GST.
 GST-3 7oy Rt fordi |
OR /@94

What is demonetisation ? Mention one positive effect of demonetisation in

the Indian economy. i

e e el TAAos RueeN bl ¥ 2o[ SEd |
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16.  What is structural composition of an economy ? As on 2021, which sector

contributed highest to the GDP of India ? 1+1=2

weies Qefefes e &2 2021 s9w R Y3 ©iFeq GDP (5 Fdiee

IEA (NB0R?
OR /%1271

Write fwo characteristics of small-scale industries. 2

TG SOOI 76! (MY e

17. Write {wo differences between economic infrastructure and social

]

infrastructure. a2

SR S = AN srwsieRe 77 sigk
OR /%341

Write about two problems faced by the power sector in India, 2

ORes e 19 FUIN @1l 75 T REw R
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18. Write any fwo measures undertaken by the Government of India to

improve agricultural marketing. 2

TR Toi T SAEE AR OISO bR A T figpIcal 7T =it TR |

OR /<31
What do you understand by diversific:atioﬁ of agriculture ? 2
e whars e & 3=t
19, What are the Hiree main approaches undertaken by Government of India
!
to alleviate poverty ? 2
| Wﬁmﬁmqamawwawwwﬁ% fefor & e
OR /<1241
Write a short note on MGNREGA. | .

MGNREGA-= @38 530 @61 (G 572 |
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20.

245

Discuss the goals of planning in India. 4
OIS ARTEAIR SO SIS 39 |
OR/&4al

Briefly discuss two positive and two negative impacts of Green Revolution.

2+2=4

CTeT [z 70 (AN W1S: 70 ISR ORS R 533 Sieeiiva <1 |

Write a comparative note on the demographic indicators for India, China

and Pakistan. . ' 4

SRS AR ForreT fofes o, B wi% e < s

(B eige < |
OR/<94)
()  Write fwo reasons for rapid economic development in China. 2

BINe wo tafos R 767 e |
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(i) Write two reasons for slow economic growth in Pakistan. ' 2

AR wgs e i 75 i e

22. Write about different types of unemployment. ol St

e Rfen aon REa 4

23. Is economic growth, a cause of environmental degradation ? Justify your

answer. : ' 4

vt Tame AR {8 (@K €61 T @37 (SN T AT Yfeyeel

O |
OR/SI%41
(i) Write two causes of global warming. ' : 2
e Sreel 3fad 757 TR

(i1) Suggest fwo measures for attaining sustainable development in India.

2
Sieazte qEry UNEA 2% A 707 A SR |
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24.  What is organic farming ?* Discuss its merits and demerits, 1565=0

(TS 1 2 2 R % SRR S < |
OR /@12y

What is Human Capital ? Discuss the sources of human capital formation.
1+5=6

T e R T Y 0 SR S <
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